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Answer the questions below.  Show your work.

1.  Your mom is making a fruit salad with Cranberries, Strawberries and Cherries.  If she has 8 Cranberries, 7 Strawberries, and 16 Cherries, how many berries will be in her salad?
2.  Your summer job is picking strawberries.  If you get paid $2 for each bucket of berries and you can pick 8 pails in one day, how much money will you have at the end of the day?  At the end of a 5-day week (you don’t pick on the weekends)?  At the end of the month (4 weeks)?  

3.  If the strawberry season is 6 weeks long, did you make enough money to buy an Ipod?

4.  One barrel of cranberries can hold 100 pounds.  If you have 23 barrels, how many pounds of cranberries do you have?
5.  There are 7000 cherries on a tree and it takes 250 cherries to make a cherry pie.  About how many pies can each tree make?

6.  If you cut one of the pies into 8 pieces, and you and your sister each eat a piece, what fraction of the pie is left?

7.  You visit your sister in Door County and she takes you shopping.  You stop at a cherry stand to buy some cherries.  The sign says 10 cherries for $.50.  If you have $2.00, how many cherries can you buy?  If your sister gives you $3.00 more, how many cherries can you buy?

8.  One barrel of cranberries is 100 pounds.  If an acre can produce 300 barrels, how many pounds is that?  If there are 450 cranberries in a pound, how many pounds are produced in one acre?
9.  Americans eat 500 million pounds of cranberries each year.  If Wisconsin farmers grow 300 million pounds, is this more or less than half of what Americans eat?

10.  Wisconsin ranks fourth in the United States production of Tart Cherries.  The following states also account for the cherry production with the following percents:
· Michigan: 73%

· Utah: 8%

· New York: 5%

· Wisconsin 4%

· Washington, Oregon, Pennsylvania (together): 10%

If 650 million pounds of tart cherries are produced each year, how many pounds of cherries are produced by the above states?

Create a pie graph showing the distribution of tart cherry production in the United States, using the numbers above.


1.  Your mom is making a fruit salad with Cranberries, Strawberries and Cherries.  If she has 8 Cranberries, 7 Strawberries, and 16 Cherries, how many berries will be in her salad?

31 berries in the salad

2.  Your summer job is picking strawberries.  If you get paid $2 for each bucket of berries and you can pick 8 pails in one day, how much money will you have at the end of the day?  At the end of a 5-day week (you don’t pick on the weekends)?  At the end of the month (4 weeks)?  

$2 X 8 = $16 each day




$16 X 5 = $80 each week




$80 X 4 = $320 each month

3.  If the strawberry season is 6 weeks long, did you make enough money to buy an Ipod?




$80/week X 6 = $480 over 6 weeks




Regardless of what type of Ipod, yes

4.  One barrel of cranberries can hold 100 pounds.  If you have 23 barrels, how many pounds of cranberries do you have?




100 pounds X 23 Barrels = 2300 pounds of cranberries

5.  There are 7000 cherries on a tree and it takes 250 cherries to make a cherry pie.  How many pies can each tree make?




7000 cherries / 250 per pie = 28 pies

6.  If you cut one of the pies into 8 pieces and you and your sister each eat a piece, what fraction of the pie is left?




8/8 – 2/8 = 6/8 or ¾ of the pie

7.  You visit your sister in Door County and she takes you shopping.  You stop at a cherry stand to buy some cherries.  The sign says 10 cherries for $.50.  If you have $2.00, how many cherries can you buy?  If your sister gives you $3.00 more, how many cherries can you buy?




10 cherries X 4 = 40 cherries with $2.00




10 cherries X 6 = 60 cherries with $3.00




40 cherries + 60 cherries = 100 cherries with $5.00 total

8.  One barrel of cranberries is 100 pounds.  If an acre can produce 300 barrels, how many pounds is that?  If there are 450 cranberries in a pound, how many cranberries are produced in one acre?




100 pounds X 300 barrels = 30,000 pounds in one acre




30,000 pounds X 450 cranberries = 13,500,000 cranberries/acre
9.  Americans eat 500 million pounds of cranberries each year.  If Wisconsin farmers grow 300 million pounds, is this more or less than half of what Americans eat?




More than half (250 million pounds)
10.  Wisconsin ranks fourth in the United States production of Tart Cherries.  The following states also account for the cherry production with the following percents:

· Michigan: 73%

· Utah: 8%

· New York: 5%

· Wisconsin 4%

· Washington, Oregon, Pennsylvania (together): 10%

If 650 million pounds of tart cherries are produced each year, how many pounds of cherries are produced by the above states?

Michigan: .73 X 650,000,000 =474,500,000 pounds
Utah: .08 X 650,000,000 =52,000,000 pounds
New York: .05 X 650,000,000 = 32,500,000 pounds
Wisconsin: .04 X 650,000,000 = 26,000,000 pounds
Washington, Oregon, Pennsylvania (together): .1 X 650,000,000=65,000,000 pounds
Create a pie graph showing the distribution of tart cherry production in the United States, using the numbers above.
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